



**Vendor Ranking** 

Page 1 of 1

**Letting:** 01240606

 Contract: E1X19

**District:** District 1

Counties: DIST/ST-WIDE, POLK

Fed Aid No: N/A

**Contract Time:** 365 CALENDAR DAYS

**Project(s):** 43272727267 (\*)

Contract Desc: Roadside Ditches-Clean and Reshape

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$133,236.90	100.00%
2	COLLINS LAND SERVICES, INC	Responsive	Non-Winning Bid	\$148,500.00	111.46%
3	THUNDERHOLE,INC	Responsive	Non-Winning Bid	\$238,900.00	179.30%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$244,655.00	183.62%
5	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$249,390.00	187.18%
6	CONTRACT SERVICE SOLUTIONS, LLC	Responsive	Non-Winning Bid	\$263,319.00	197.63%
7	R.O.W. MAINTENANCE, LLC	Responsive	Non-Winning Bid	\$274,900.00	206.32%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 7

 Letting:
 01240606
 June 06, 2024
 Call Order:
 008
 Contract:
 E1X19

 District:
 District 1
 Counties:
 DIST/ST-WIDE, POLK
 Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 43272727267 (\*)

Contract Descr: Roadside Ditches-Clean and Reshape

The work under this Contract consists of Roadside Ditches-Clean and Reshape.

Department Advertised Estimate: \$275,000.00

Line No / Item ID		Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) COLLINS LA		(3) THUNDE	ERHOLE,INC
() indicates item is	bid as Lump Sum		Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LI	F			
0005 0120 9 1 DITCH CLEARING OVEGETATION, DITC		4,000.000 LF 0 15'	8.11000	32,440.00	9.00000	36,000.00	10.00000	40,000.00
0010 0120 9 2 DITCH CLEARING OVEGETATION, DITC		2,500.000 LF	8.11000	20,275.00	10.00000	25,000.00	10.00000	25,000.00
0015 0120 9 3 DITCH CLEARING OVEGETATION, DITC THAN 30'		2,500.000 LF TER	8.11000	20,275.00	11.00000	27,500.00	12.00000	30,000.00
0020 0120 10 11 CLEAN AND RESHA DITCH WIDTH UP T		1,000.000 EAD, LF	2.00000	2,000.00	3.00000	3,000.00	10.00000	10,000.00
0025 0120 10 12 CLEAN AND RESHA DITCH WIDTH 15-30	PE DITCH, SPRI	1,000.000 EAD, LF	2.00000	2,000.00	3.00000	3,000.00	10.00000	10,000.00
0030 0120 10 13 CLEAN AND RESHA DITCH WIDTH GREA		1,000.000 EAD, LF	2.00000	2,000.00	3.00000	3,000.00	12.00000	12,000.00
0035 0120 10 21 CLEAN AND RESHA DITCH WIDTH UP T	,	4,950.000 L, LF	6.11000	30,244.50	4.00000	19,800.00	10.00000	49,500.00





# **Tabulation of Bids**

Page 2 of 7

Lettin	i <b>g:</b> 0°	1240606	June 06, 2024	Ca	II Order: 008		Contract:	E1X19	
			e Quantity Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(2) COLLINS LAND SERVICES, INC		(3) THUNDERHOLE,INC	
	dicates item is bi	d as Lump Sum		Unit Price	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LI	F			
	0120 10 22 I AND RESHAF WIDTH 15-30'	PE DITCH, HAU	3,840.000 JL, LF	4.11000	15,782.40	5.00000	19,200.00	10.00000	38,400.00
	0120 10 23 I AND RESHAF WIDTH GREA		· '	4.11000	8,220.00	6.00000	12,000.00	12.00000	24,000.00
	001 ROADSIDI LEAN AND RE		ection Totals:		\$133,236.90 <sup>°</sup>		\$148,500.00 <sup>1</sup>		\$238,900.00
		Contract G	rand Totals:		\$133,236.90		\$148,500.00		238,900.00



Page 3 of 7

## Florida Department of Transportation



## **Tabulation of Bids**

Letting: 01240606 June 06, 2024 Call Order: 008 Contract: E1X19

Letting:	: 01	240606 J	une 06, 2024	Са	<b>I Order:</b> 008		Contract:	E1X19	
	No / Item ID Description	Alternate	Quantity Units	(4) MIDW CONSTRUC		(5) HIGHER GF SERVIC			ACT SERVICE DNS, LLC
() indic	cates item is bid	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (LI	F			
DITCH CL	0120 9 1 LEARING OF TION, DITCH	LARGE WIDTH UP TO	4,000.000 LF 9 15'	15.00000	60,000.00	7.95000	31,800.00	11.70000	46,800.00
DITCH CL	0120 9 2 LEARING OF TION, DITCH	LARGE WIDTH 15-30'	2,500.000 LF	18.00000	45,000.00	12.00000	30,000.00	15.00000	37,500.00
DITCH CL		LARGE WIDTH GREAT	2,500.000 LF FER	25.00000	62,500.00	15.00000	37,500.00	15.78000	39,450.00
CLEAN A	0120 10 11 ND RESHAP IDTH UP TO	E DITCH, SPRE 15'	1,000.000 EAD, LF	3.00000	3,000.00	6.00000	6,000.00	6.00000	6,000.00
CLEAN A	0120 10 12 .ND RESHAP 'IDTH 15-30'	E DITCH, SPRE	1,000.000 EAD, LF	4.00000	4,000.00	7.00000	7,000.00	7.20000	7,200.00
CLEAN A		E DITCH, SPRE ER THAN 30'	1,000.000 EAD, LF	5.00000	5,000.00	12.50000	12,500.00	10.14000	10,140.00
CLEAN A	0120 10 21 ND RESHAP IDTH UP TO	E DITCH, HAUL 15'	4,950.000 _, LF	4.50000	22,275.00	9.80000	48,510.00	9,90000	49,005.00
CLEAN A	0120 10 22 .ND RESHAP 'IDTH 15-30'	E DITCH, HAUL	3,840.000 _, LF	7.00000	26,880.00	12.00000	46,080.00	11.10000	42,624.00



06/06/2024

# **Tabulation of Bids**

Page 4 of 7

Letting:	01240606	June 06, 202	4 Ca	III Order: 008		Contract:	E1X19	
	Line No / Item ID Alternate Quantity Item Description Units		· · ·	(4) MIDWESTERN CONSTRUCTION, INC		(5) HIGHER GROUND LAND SERVICES, LL		ACT SERVICE ONS, LLC
() indicate	es item is bid as Lump S	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION: 0001	(ROADSIDE I	DITCHES-CLEAN A	AND RESHAPE (LI	=			
0045 012	20 10 23	2,000.000	8.00000	16,000.00	15.00000	30,000.00	12.30000	24,600.00
	RESHAPE DITCH, TH GREATER THAN	,						
	ROADSIDE DITCHES AND RESHAPE (L		'	\$244,655.00		\$249,390.00	\$263,319.00	
OLLAI	AND RESHALE (E	,						
	Contrac	et Grand Totals:		\$244,655.00		\$249,390.00		263,319.00



Page 5 of 7

## Florida Department of Transportation



# **Tabulation of Bids**

Letting:	01240	606 Ju	ne 06, 2024	Cal	Order: 008		Contract:	E1X19	
	/ Item ID scription	Alternate	Quantity Units	(7) R.O.W. MAI LL					
() indicat	es item is bid as L	.ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 000	)1 (F	ROADSIDE DI	TCHES-CLEAN AN	ND RESHAPE (LF				
DITCH CLE	20 9 1 ARING OF LAR ON, DITCH WID		4,000.000 LF 15'	10.50000	42,000.00				
DITCH CLE	20 9 2 ARING OF LAR ON, DITCH WID		2,500.000 LF	16.00000	40,000.00				
DITCH CLE	20 9 3 ARING OF LAR ON, DITCH WID		2,500.000 LF ER	22.00000	55,000.00				
CLEAN ANI	20 10 11 D RESHAPE DI TH UP TO 15'	TCH, SPRE <i>l</i>	1,000.000 AD, LF	10.00000	10,000.00				
	20 10 12 D RESHAPE DI TH 15-30'	TCH, SPREA	1,000.000 AD, LF	10.00000	10,000.00				
CLEAN ANI	20 10 13 D RESHAPE DI TH GREATER		1,000.000 AD, LF	10.00000	10,000.00				
CLEAN ANI	20 10 21 D RESHAPE DI TH UP TO 15'	TCH, HAUL,	4,950.000 LF	10,00000	49,500.00				
	20 10 22 D RESHAPE DI TH 15-30'	TCH, HAUL,	3,840.000 LF	10.00000	38,400.00				





**Contract Grand Totals:** 

**Tabulation of Bids** 

Page 6 of 7

Letting	<b>g</b> : 0	1240606 Jւ	ine 06, 2024	Cal	ll Order: 008		Contract:	E1X19		
	No / Item ID Description	Alternate	Quantity Units	(7) R.O.W. MA LL						
( ) inc	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION: 0001 (ROADSIDE DITCHES-CLEAN AND RESHAPE (LF									
0045	0120 10 23		2,000.000	10.00000	20,000.00					
		PE DITCH, HAUL, TER THAN 30'	LF							
	001 ROADSID EAN AND RE	E DITCHES- Sec SHAPE (LF)	tion Totals:		\$274,900.00		'			

\$274,900.00



06/06/2024

#### **Tabulation of Bids**

Page 7 of 7

Letting: 01240606 June 06, 2024 Call Order: 008

Contract: E1X19

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.